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General Instructions :

(1) There are total 26 questions in five sections in the question paper. All questions
are compulsory.

(ii) Section A contains questions number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type-I questions of two
marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type-II questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of five
marks each.
(vii) There is no overall choice in the question paper, however, an internal choice is

provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one question out of the two
given in the question paper with the same question number.

dgug — &

SECTION - A

. SIfod & AR “&AME & e7ar’ (fitness) 1 &l & 2 1

What 1s “fitness of-an individual’ according to Darwin ?

2. S 3TAY Tohel ST Bl § 2 1

What 1s biopiracy ?

3. HEEl H TR0 3HAT Bl GHYTd T o (61T Teh [d1e 3T I SIS0 | 1

Suggest a method to ensure an anamnestic response 1n humans.

4.  FHE AT 3 R Teh STel STl TURGAT i (Hafd =1 gidl & 2 1

State the fate of a pair of autosomes during gamete formation.
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5. FEN WHR A AN <9 § M.T.P. & o0 STHeee &7 I1d o7 &1 & | SROT i gu gdeh!
qi HIT | 1

Our government has intentionally imposed strict conditions for M. T.P. 1n our country.

Justity giving a reason.

TUE -G
SECTION -B
6. T ITTELON Sl el A SE-USAIHOT Sl SARAT HifoTT ST WRI-TUET i dgcl a1+ |
gergar Hel | 2

By taking two examples explain how has bio-tfortification helped 1n improving food

quality.

7. 37Ueh ST b [kl dlolsl | g U9 Y UeTel e [S@rdl ST ¢ |
(a) & YRS FRT HRUT I 3T & 311X ST ol T[0T UX SEHT T THTE TS 2
(b) TH UTRST Tl JHAH & U & AE ST | 2
Plenty of algal bloom is observed in a pond in your locality.

(a) Write what has caused this bloom and how does it affect the quality of water.

(b) Suggest a preventive measure.

8. WA o 3TN | Y &1 I ST (USTEN) | 6T UHR 73S THell 2 2

How does the application of cyanobacteria help improve agriculture output ?
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0. TUH YWl UI¥ H TH gaSU] S HINH IR R JHHRIEE Icq HAl & STaih Th
TTGHISITU] STeh ShIIRTehT Shaol Ush HIGT JTHDIGIS Scd~ hicll & | SITEAT HINT | 2

In a flowering plant a microspore mother cell produce four male gametophytes while a

megaspore mother cell form only one female gametophyte. Explain.

10. IIFAAGH bl FTGAT T UM HISTT | 2

Sl
FrefeREa Sitat o [aerarg Hewd i ==l iU - 2
() TIX
(b) AR
(c) @Ml gy

(d) B FT

Describe the structure of a nucleosome.

OR
Mention the evolutionary significance of the following organisms :
(a) Shrews
(b) Lobefins
(c) Homo habilis

(d) Homo erectus

Yug-1

SECTION - C

11. S ST % SR Ual o 1 U qaeid {19 § U 2147 oGS 31 ¢ | 39 9<d § a9
gIehY RIT TAT TARTOT Hehe 81 oh! TTEAT & 2 3

During a medical investigation, an infant was found to possess an extra

chromosome 21. Describe the symptoms the child 1s likely to develop later in the life.
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12 ORI G0 9§ GeheTa— TSI &l Heg MHel Tehdll @ | 39 I I I HINT | 3
AT
Stg-fafagdr “gTar @& Tl i RO o A Jarey a4 3! U ST | 3
‘in-situ’ conservation can help endangered/threatened species. Justity the statement.

OR

Name and describe any three causes of biodiversity losses.

13. 9ueh A Tganies giel § 37a¥ 9d2U | Ycdeh ol Ueh-Ush 351807 ST | 3

Ditferentiate between an annual and a biennial plant. Provide one example of each.

14. TFd I[ehoih AcTeh! Sl 3TRE! ATHIhd HIC o G THRY | 3

Draw a labelled diagrammatic sectional view of a human seminiferous tubule.

15. Uicid gRT 98T (U S WX T Ol § SAFE a6 | 394 I T STl | ST el
TEd AN &l & DT | U MY ae-is 1 GATd ST a2l Jui SHited STEeh! 938 |
3Gh! TgTH I ST Heh | 3

A criminal blew himself up in a local market when was chased by cops. His face was

beyond recognition. Suggest and describe a modern technique that can help establish

his 1dentity.

16. p?+2pq+q?= 1% aEgdaT & Fa9 & YR T 3T SSTI0TAT THH0T i ARAT HisT | 3

p” + 2 pq + g% = 1. Explain this algebraic equation on the basis of Hardy Weinberg’s

principle.
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17. SI-URNATH § Mg sl YHeh13Tl shi SREAT ity

(a) PISELE] Q@I%ié(‘fl@ﬂ:l
(b) SA-TA=RIAHUT FEeH
(c) pBR322 # FXUTH Taeeh 3

Explain the role(s) of the following in Biotechnology :
(a) Restriction endonuclease

(b) Gel — electrophoresis

(¢) Selectable markers in pBR322.

18. Bt U & TiEl 9T FUT-TI0T S ol ATISIRI-hiE ) TY ST & 2 GHSHT FdTeT [ U
7 gIaAT € | 3

Why do lepidoplerans die when they feed on Bt cotton plant ? Explain how does it

happen.

19. fORIM-STH-3E ot U e o foTd {7 ST oot =0T 67 GeAd SITTT | 3

Write the steps you would suggest to be undertaken to obtain a foreign-gene-product.

20. ded HA-STIR H FoATerg (3T0Teh) a1 Gishiad &A1 69 JehR TEEdl Hid &, gu T | 3

Describe how do ‘flocs’ and ‘activated sludge’ help in Sewage Treatment.
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21. (a) TS 3TIEIE T BT & 2

(b) TRI3T & 3 TS & SR “SRUT” & Hewd ol AR BT | 3

(a) What 1s inbreeding depression ?

(b) Explain the importance of “selection” during inbreeding in cattle.

22. FISEE! S Th Ziefl [l TRl e T “Tootl-Toal” UIef o & 4 STl Jicid = a7 71T |
ek 3T g1 died MRS ot o8l 9 foadt uet of |

(a) % o HEA Pl Ueh G 3T FA JHT STl € 2

(b) TF I THEMH A [ARGT AT IHh FAA-91Y BT TH 9 TATET |

(c) I%MIet URTY i ol o [T ARSI SR el T T AT agd |k 9l &l G & | 1 2 3

A group of youth were having a ‘rave party’ in an isolated area and was raided by

police. Packets of-“smack’ and syringes with needles were found littered around.

(a) Why s taking ‘smack’ considered an abuse ?

(b)  Write the chemical name of ‘smack’ and the name of 1its source plant.

(¢) Syringes and needles used by the youth for taking the drug could prove to be

very fatal. Why ?
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Qqus - g
SECTION - D
23. HYUT URA i ST ST ARG o T 9N i g Hi TSt g3 Ot B AR g5 D
fafad & | 39 feafd | H%d 1ot 311U Zotieh i el Sodiol §8I1 A “THATIY, ATy 7
STATEhAT SHIsHH Sl ST fohal | STia-foRie o fo=mel g9 o A1 981 7 396 96 o4 &
ferT st fFar & |
(a) SHEAT ol TG o AT STAM ohl HocdIEd hi & 37T deh ohl i fhd THR BT 2
(TS T HRIT JITTT) |
(b) TER-TE, U HNERI o [T Uh-Ush, h Weddl ¥, HNARN & Ggord eH arell
UREEAT3T ! S i FaT BT | 4
Public all over India is very much concerned about the deteriorating air quality in large
parts of North India. Alarmed by this situation the Resident’s Weltare Association of

your locality organized an awareness programme entitled “Bury not burn”. They

invited you, being a biology student to participate.

(a) How would you justify your arguments that promote burying and discourage

burning ? (Give two reasons)

(b) With the help of flow charts, one for each practice depict the chain of events that

follow:

g - F

SECTION -E
24. (a) 3T H RHE FAEar ¢ 2

(b) THE SHIEE & I-TREE & dF M&UH THRI & A Farsl 3T T hl TR

! gt TET | (1+4)=5
rerat
37, TATERONE g1 QAU a&qsll aodr Jarsli & =ue IREe & oy qauferd @
TR T3t b JfHehT St ==l BT | 5
57/1/2 g
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(a) What 1s an age-pyramid ?

(b) Name three representative kinds of age-pyramids for human population and list

the characteristics for each one of them.
OR

Discuss the role of healthy ecosystem services as a pre-requisite for a wide range of

economic, environmental and aesthetic goods and services.

25. I ST T %99 &l TgU a7 I8 7T Y941 & I QI ;
T % Th Tl o e T 520 dS1€ & | T o, 98 399 S el a1 & 399 shaet 480

STAETH 91T © |
(a) UNUFE Bl & IS § T 40 SIS ST sisT o1 el o 917 9 ST SHifeT |
(b) T SE-&TH dST | fFalSTa=l Hor & IRIE T quH T |

(c) o v SHgqslsi sisT Yot STafsh 3o UegHe 8ld & 2 Tt | (1+2+2)=5

S]]

(a) TTHMAREd §RT SMad e o A TORgu a1 39 &g 9l FdTsy

(i) O TYCTH AR AT (HIT M)

(i) 2o e a1 UHel & S 2 +2)
(b) T T H 37 FATEITAT o A ISy S8 -
(1) U9 gead T TR -1 &id € |

(i) UG T W d) W foIgaq= et Wl | (1)
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Read the statement and answer the questions that follow.

A tlower of brinjal has 520 ovules 1n 1ts ovary. However, it produces a fruit with only

480 viable seeds.

(a) What could have prevented the rest of the 40 ovules from maturing into viable

seeds ? Explain giving a reason.
(b) Describe the development of a dicot embryo in a viable seed.

(¢) Why certain angiospermic seed are albuminous while others are exalbuminous ?

Explain.
OR
(a) Name the hormones secreted and write their functions :
(1) by corpus luteum and placenta (any two).
(11)  during Follicular phase and parturition.
(b) Name the stages in.a human female where :
(1) Corpus luteum and placenta co-exist.

(1) Corpusluteum temporarily ceases to exist.

26. TUH UEAl H-seild [T i H “Wdd Ied & a9’ &l Tal HiT adl STl AT
HIT | 5

(a) ToIe ¥ AN T Ueet X a8 H TAAH-UHATHIOT o SR [T 7T U&T0T T UTehideh
IR0T ZRT T o a9 ot qite 7 TR fHerdl & 2

(b) 39 URESAT o ANAT DT S, WThiaesh 0T & AR, Sio e (I1&3T) §RT
WEATHITT TSI Ll & | 4+1)=5

57/1/2 10

collegedunia:

India’s largest Student Review Platform




State and explain the “law of independent assortment™ in a typical Mendelian dihybrid

Cross.
OR

(a) How do the observations made during moth collection in pre- and post-

industrialized era in England support evolution by Natural Selection ?

(b) Explain the phenomenon that 1s well represented by Darwin’s finches other than

natural selection.

TS H SNINIRUT ¥ Ugel 37X a5 | ITAY-UshIshI0l o S0 [ohU TT U801 9§ WTehideh oo
g Taehd o [o=R i 9T Thd UehY fHeTdr ¢ 2 <

OR

How does the obséervations during pre- and post — industrialized moth collection in

England support evolution by Natural Selection ?
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